Model Question paper for MPC, BPC, MEC/CEC

English
1) TS covviiiiiiieieineieees hot to go out
1) too  2) much 3) very 4) only
2) There ....ovvvvviennnnnn. any petrol left in the car (identify the right option to fill in the blank)
1) Was 2) were 3) were not  4) was not
3) L to join home at ten O clock. (choose the right option to fill in the blank)
1) am expecting 2) hope 3) wait 4) am look forward
4) Gold, silver or lead, which is .........c.ccceeeeeee. ?
Identify the right option to fill in the blank.
1) The most precious  2) more precious 3) precious  4) more than precious
Mathematics

1) If Tan & + Sec & = 3, then value of Sin € is ............
Tan @ + Sec @ = 3 @00 Sin @ Dend ..ovvvevnnees

1)4 2) 3 3) 7 4) 15

5 5 18 18
2) If 4x% - 6x — kis exactly divisible by x — 3, then value of kis ................
4x? - 6X — k 9 e300 X — 3 & D%Daom 2PA0DAD K DD vivvevenren,

1) 18 2) 24 3) 16 4) 21
3) The point lying on x-axis and equidistant from (3, 5) and (4, 2) is .......
(3, 5) 208050 (4, 2) DotoHEd DAPD BI°60eS° ot X- L0 &od Do)

1) (-7,0) 2) (6, 0) 3) (5, 0) 4) (16, 0)

4) The ratio in which X-axis divides the segment joining (5, 7), ( -1,3) is .........
1) 7 : 3 internally 2) 5 : 1 externally 3) 7 : 3 externally 4) 5: 1 internally

(5, 7), (-1,3) Dotospon 8 Bar 2ot X- @0 DPR0D YD wvvueene
1) 7 : 3 ®oesGorr 2) 5 1 exirgore 3) 7 1 3 eirgore 4) 5 : 1 eodGorr
Physical Sciences

1) The Saturated vapour surrounding the cool objects like flowers, grass, etc., leads

to.

1) Condensation 2) fog 3) snowfall 4) rain fall

3P0, (G DOETD T ok DO &) T IO 8DOE VoS ToBJYN 07
oY= 1o o L NN

1) Jofssemrdn  2) Prdvoid 3) oock 4) g

2) Magnetic quantum value for 24™ electron is ...........
24 5 JUFRD epozjo.ﬁvzjoeé SO0 R0F DRVD 1vvreines

1) 1 2) -2 3) -1 4)0

3) Concentration of ore does not include......................
1) Washing 2) Forth flotation 3) Magnetic separation 4) Distillation



A FoQEB0tS” EODD I0FAN wrrrrererrrrrrreeess
1) DS sesescto 2) $5 DD 3) oL 0% oo 4) (B0

4) The number of isomers possible for Hexane are .............
B3RO L (00T €0CIDD @IEW FPCIYBFTRD.cvvnrrees

1) 4 2) 2 3)5 4) 6
Biological Sciences

1) The percentage of oxygen in inhaled air is ............
&wbs?ooé TOEDPDVS’ 8B\ CBVE), TPB0.vrrrrrnenes

1) 13 % 2) 16% 3) 21% 4) 18%

2) The alkaloid used as antimalarial drug is ................
1) Morphine 2) Reserphine 3) Quinine  4) Scopolamine

TOOIF DB TG e.ae)bovooo& ................

2) B8NS 2) BB 3) 8D 4) )P0
3) The hormone secreted to suppress the hunger is ......................
1) Ghrelin 2) Thuyroxin 3) Vasopressin 4) Leptin
2559 EaDDAKD TEYRD wvvvrrirnnn,
1) 69 2) FoedyS 3) TN 4) SR

Social Studies

1) The Shivaliks in Assom are known as..............
1) Cachar 2) Jammu hills 3) Mishmi hills 4) Mozo

3705 330 010" & DHOE eF®.
1) =6 2) @) octen 3) 2y, Eocten 4) &

2) As per the census 2011, the density of population in India was...............
2011 2xrer S€) 9S°C0 LPEBBE B 0GB vvrerereees

1)379  2) 380 3) 382 4) 381
3) During the year 2004-05, the percentage of employment in organized sector

WaS....ceieeerrenn
2004-05 %0:59¢8y6085" H5H9E)eh Bofoes” DIBID) SPELED THO wvvvvrvrerens
@ -0
1) 8% 2) 9% 3) 10% 4) 11%
4) The food grains purchased and kept in stock by the Government of India through FCI is
called.................
1) Food stock 2) wheat grain stock 3) buffer stock 4) millet stock

2B PGB0 GO LFER0R PO 5PN .005:3?0 BIHG rgR .‘Oe)se)m & DEHOE e,

1) es5%6 dougen  2) & AVE VAL IR 3) @96 dougen  4) rrrariw dugen

5) The state of atmospheric conditions over an area at a particular time is known as...........
1) Temperature 2) winds 3) humidity 4) weather

208 Focs0eS” 8 PR VBANOS’D TT DB DOJBOV FL® DRVFE.vrerevseens
1) 382 2) mrenen 3) esged 4) Sreed6e0



